
1) 95 + (-64)

Answer: ____________

2) 44 + (-82)

Answer: ____________

3) An amount was increased by 9% to 
$21.00. Find the original amount.

Answer: ____________

4) 1/34 of 68

Answer: ____________

5) 1/34 of 68

Answer: ____________

6) What would you multiply by to 
decrease an amount by 42%?

Answer: ____________

7) 11/8 x 19/8

Answer: ____________

8) (1 x 17) + (4 x 69)

Answer: ____________

9) An amount was increased by 6% to 
$156.00. Find the original amount.

Answer: ____________

10) 80 - (-14)

Answer: ____________

11) 80 - (-14)

Answer: ____________

12) 80 - (-14)

Answer: ____________

13) 8/3 + 19/8

Answer: ____________

14) 8/3 + 19/8

Answer: ____________

15) 8/3 + 19/8

Answer: ____________
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16) 15/7 x 7/3

Answer: ____________

17) 15/8 + 9/3

Answer: ____________

18) 2/9 + 16/11

Answer: ____________

19) 7/12 + 19/3

Answer: ____________

20) (-35) + 25

Answer: ____________

Total: ___ / 20
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